M 0 R s E M Model 195GM-A

morsedrum.com

Kontrol-Karrier, Power Tilt, Spark Resistant

Serial Number 414504 to Current

0.

1\

ITEM | QTY. PART NUMBER | DESCRIPTION
1 1 565-P HHCS, 5/8-11 X 4-1/2 GR5
3 1 6374M-P OVERHEAD WELD, SR, XMGR 195GM
4 1 6265-P NUT, 5/8-11 NYLON LOCK
5 1 195AP1 195A SUB COMPONENTS, AIR (SEE PAGES 2 AND 3)
6 1 290-A-2P MOTOR, 2HP, AIR, 56C
7 4 1474-P WASHER, 3/8 SPLIT LOCK
8 4 535-P HHCS, 3/8-16 X 1-1/4 GR 5 ZINC
9 1 3652-P PLUG, SPEED REDUCER, GR SERIES
10 1 4067-P SPEED REDUCER, 195, HELICAL
1 2 1502-P HHCS, 7/16-14 X 1-1/4 GRS
12 2 4761-P WASHER, 7/16 SPLIT LOCK ZINC
13 2 1166-P WASHER, 3/8 USS 1" OD, ZINC
14 1 5940J-P TORQUE PLATE, 195
15 2 5184-P SPACER, GR SADDLE, PIPE
17 1 570-P COLLAR, 1-1/2" IDS
18 1 2854-P IDLER ARM W/ BRGS, 195

Copyright — Morse Mfg. Co., Inc.

18 June 2025

Page 1



https://morsedrum.com/

M O R s E M Model 195GM-A

Kontrol-Karrier, Power Tilt, Spark Resistant

morsed rum.com Serial Number 414504 to Current

1/4" POLY
6FT X 3

Copyright — Morse Mfg. Co., Inc. 18 June 2025 Page 2


https://morsedrum.com/

M 0 R s E M Model 195GM-A

Kontrol-Karrier, Power Tilt, Spark Resistant

morsedrum.com Serial Number 414504 to Current

ITEM [ QTY. PART NUMBER | DESCRIPTION

1 1 5782-P PENDANT, AIR, 195A-A

2 2 4433-P BREATHER VENT, 1/8

3 1 6057-P WIRE CABLE CPT, 1/8", 195A-A

4 1 6251-P HANGER, CONTROL VALVE, 195A-A

5 1 6056-P SPIRAL WRAP, BLUE, 3/4" OD FT

6 3 6052-P TUBING, POLY, 1/4", 195A-A

7 2 6055-P TUBING, POLY, 3/8" 195A-A

8 4 5873-P AIR FIT, MALE CON. -6 -8

9 1 5916-P VALVE, AIR, 3 POS, 195A-A

10 2 6278-P SHCS, 1/4-20 X 1-3/4

1 6 3120-P AIR FIT, MALE CON. -4-2

12 2 1518-P NUT, 1/4-20 NYLON LOCK

13 1 6419-P MOUNT, VALVE PENDANT 195A-A

14 4 193-P SCREW, TEK, 12-14 X 3/4 3 PT

15 2 6070-P MUFFLER, 195A-A, 3/8"

16 1 4676-P HYD FIT, PIPE ADAPTER 3/8-1/2

17 1 3301-P HYD FIT, STREET ELBOW, 3/8 310

18 1 3135-P HYD FIT, MALE RUN TEE 3/8

19 1 6051-P HYD FIT, PIPE REDUCER, 3/8-1/8

Copyright — Morse Mfg. Co., Inc.

18 June 2025

Page 3



https://morsedrum.com/

